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. Find the function f~'(x), given f(x) in each of the following
(i) f)=x+2 (ii) fix)=2x-1

® fW=5r=1 () fx)=3-4x

(iii) f(x)=3x-2

o) =2 i =25

. If f is the function f(x) = 3x — 4, find ,
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1 f(x) = 2x + 4 find

() f(2) (i) £7'@) (iii) £7'(-2)

Find also the value of x for which f(x)=f'(x).
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Show that £°1(3) is a solution of the equation f(x) =3:

~/TWo functions f and g are defined as follows:
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Fing %~ 1and g:x—3x 45,

1 @) £ (i) g'(®)
i 2150 the value of & such that (k) = 8~ '(4)-

- The function £ is defined by f: x—
Find




